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Chapter 6 BLM Answers

BLM 6–1 Chapter 6 Math Link Introduction

1. 
[image: image267.jpg]top side



  2. a) 10  b) 
[image: image2.wmf]+

12

10

 = 
[image: image3.wmf]3

10


3. 
[image: image4.wmf]4

21

  4. a) 
[image: image5.wmf]5

6

  b) 1 − 
[image: image6.wmf]5

6

 = 
[image: image7.wmf]1

6


BLM 6–2 Chapter 6 Get Ready

1. a) 
[image: image8.wmf]1

3

  b) 
[image: image9.wmf]5

6

  c) 
[image: image10.wmf]7

10

  d) 
[image: image11.wmf]2

3


2. a) 
[image: image12.wmf]1

2

  b) 
[image: image13.wmf]2

3

  c) 
[image: image14.wmf]1

4

  d) 
[image: image15.wmf]2

15


3. a) 3
[image: image16.wmf]4

5

  b) 6  c) 1
[image: image17.wmf]1

5

  d) 2
[image: image18.wmf]2

3

 

e) 8
[image: image19.wmf]2

3

  f) 5
[image: image20.wmf]3

7

  g) 3
[image: image21.wmf]1

2

  h) 
[image: image22.wmf]1

3


4. a) 3
[image: image23.wmf]5

6

  b) 4
[image: image24.wmf]3

4

 c) 4
[image: image25.wmf]3

8

  d) 7
[image: image26.wmf]3

10


5. a) 2
[image: image27.wmf]1

6

  b) 2
[image: image28.wmf]1

4

 c) 
[image: image29.wmf]7

8

  d) 1
[image: image30.wmf]9

10


6. a) 1  b) 25 c) 0  d) 4

BLM 6–3 Chapter 6 Warm-Up

Section 6.1

1. Answers will vary. Example:

Area of circles ≈100 × 3 × 2 ≈ 600 cm2
Area of rectangle ≈ 20 × 3 × 25 ≈ 1500 cm2
Surface area ≈ 2100 cm2
2. 2198 cm2
[image: image1.wmf]3

10

[image: image262.wmf]1

8

3.               4. 
5. Answers will vary. Make sure that the three views are labelled.

6. 12 m   7. 12 m2  8. 
[image: image31.wmf]1

3

  9. 125%, 1
[image: image32.wmf]1

4


10. 0.88, 88%

Section 6.2

1. 3 × 
[image: image33.wmf]5

6

 = 
[image: image34.wmf]15

6

 = 2
[image: image35.wmf]3

6

 = 2
[image: image36.wmf]1

2


2. 2 × 
[image: image37.wmf]2

3

 = 
[image: image38.wmf]4

3

 = 1
[image: image39.wmf]1

3

  3. 
[image: image40.wmf]12

8

 = 1
[image: image41.wmf]4

8

 = 1
[image: image42.wmf]1

2


4. 
[image: image43.wmf]7

2

 = 3
[image: image44.wmf]1

2

  5. a cube  6. $270

7. Answers will vary. Examples:

( Divide $300 by 10 and then subtract the answer from $300.

( Multiply $300 by 0.9: 9 × 3 = 27 and add a zero.

8. 62.5%

[image: image263.wmf]1

2

[image: image264.jpg]<— 628cm —»




9.
10.
Section 6.3

1. 
[image: image45.wmf]1

18

  2. 
[image: image46.wmf]3

8

  3. 
[image: image47.wmf]2

12

 = 
[image: image48.wmf]1

6

  4. 
[image: image49.wmf]10

5

 = 2
5. 
[image: image50.wmf]18

9

 = 2
6. Answers will vary. Example: Use patterning. It takes 9 ninths to make 1 whole. 18 is 2 × 9. Therefore, the answer is 2.

7. 2  8. 3  9. 7.25%; 0.0725  10. 1.053

Section 6.4

1. Estimates may vary. Example: 0; 
[image: image51.wmf]6

20

 = 
[image: image52.wmf]3

10


2. Estimates may vary. Example: 0; 
[image: image53.wmf]1

 

18


3. Estimates may vary. Example:
[image: image54.wmf]1

2

; 
[image: image55.wmf]5

14


4. 
[image: image56.wmf]2

28

 = 
[image: image57.wmf]1

14

  5. 
[image: image58.wmf]1

36

  6. $30  7. $6
8. $1500  9. 9  10. 121

Section 6.5

1. a) 3
[image: image59.wmf]3

5

  b) 7
[image: image60.wmf]2

3

  2. a) 
[image: image61.wmf]24

7

  b) 
[image: image62.wmf]14

11


3. 
[image: image63.wmf]60

14

 = 4
[image: image64.wmf]4

14

 = 4
[image: image65.wmf]2

7

  4. 
[image: image66.wmf]26

12

 = 2
[image: image67.wmf]2

12

 = 2
[image: image68.wmf]1

6


5. 
[image: image69.wmf]169

18

 = 9
[image: image70.wmf]7

18


6. 82 = 64  7. 102 = 100
92 = 81          112 = 121

[image: image71.wmf]74

 ≈ 8.6   
[image: image72.wmf]114

 ≈ 10.7
8. 62 = 36  9. 144  10. 169
72 = 49


[image: image73.wmf]38

 ≈ 6.2

Section 6.6

1. 
[image: image74.wmf]8

9

  2. 
[image: image75.wmf]1

10

  3. 
[image: image76.wmf]45

4

 = 11
[image: image77.wmf]1

4

  4. 
[image: image78.wmf]65

44

 = 1
[image: image79.wmf]21

44


5. 
[image: image80.wmf]35

14

 = 2
[image: image81.wmf]1

2

  6. $3.99  7. 8 : 10 : 6
8. 4 : 5 : 3  9. 
[image: image82.wmf]8

6

 = 1
[image: image83.wmf]1

3

  10. 
[image: image84.wmf]6

10

 = 
[image: image85.wmf]3

5


BLM 6–4 Chapter 6 Problems of the Week

1. a) Since the product for the first apple is 60
[image: image86.wmf]11

12

g, and the product for the second apple is 51
[image: image87.wmf]2

3

g, the first apple will have the largest bruise.
b) Answers will vary. Example: Other factors may be what kind of surface they fall on (rocks, grass, etc.).

2. a) 
[image: image88.wmf]1

6

4

cm  b) Team 1 card: 
[image: image89.wmf]1

7

3

 cm2, 
Team 2 card: 
[image: image90.wmf]1

6

3

 cm2, Team 3 card: 
[image: image91.wmf]1

11

3

 cm2. Team 3 card exceeds specifications.

3. 18 m  4. The pool is 
[image: image92.wmf]7

8

 full. 
[image: image93.wmf]1

8

 of the pool still needs to be filled.  5. a) 24  b) 6

6. The 10 cm × 12 cm and the 8 cm × 9.6 cm picture. Both of these ratios, when compared as a fraction, are equal to 0.83.

7. Dirk’s mother is correct. He drank 
[image: image94.wmf]21

40

 L of lemonade.
8. 
[image: image95.wmf]7

10

 of the pool is pumped; 
[image: image96.wmf]3

10

 still needs to be pumped; 
[image: image97.wmf]1

1

2

 h to empty the pool

BLM 6–6 Section 6.1 Extra Practice

1. a) 4 × 
[image: image98.wmf]1

3

  b) 3 × 
[image: image99.wmf]1

2

  c) 5 × 
[image: image100.wmf]1

6


2. a) 3 × 
[image: image101.wmf]2

5

  b) 2 × 
[image: image102.wmf]5

6

  c) 3 × 
[image: image103.wmf]1

8


3. a) 
[image: image104.wmf]4

3

, and an appropriately marked number line

b) 
[image: image105.wmf]9

4

, and an appropriately marked number line

4. a) 
[image: image106.wmf]5

3

  b) 
[image: image107.wmf]15

8

  c) 
[image: image108.wmf]189

105

=


5. a) 6  b) 8  c) 21  6. 21  7. 25

BLM 6–7 Section 6.1 Math Link

1. 
[image: image109.wmf]1

4

  2. a) 25  b) 75  c) 4  d) Answers may vary. Example: 3 × 25

3. a) 2; 6  b) 4; 12  c) 6; 18  d) 5; 15

4. 5  5. 15

BLM 6–10 Section 6.2 Extra Practice

1. a) 
[image: image110.wmf]1

8

, and correctly marked fraction strip

b) 
[image: image111.wmf]1

10

, and correctly marked fraction strip

c) 
[image: image112.wmf]2

9

, and correctly marked fraction strip

d) 
[image: image113.wmf]3

12

or 
[image: image114.wmf]1

4

, and correctly marked fraction strip

2. a) 
[image: image115.wmf]1

6

  b) 
[image: image116.wmf]1

12

  c) 
[image: image117.wmf]1

9

  d) 
[image: image118.wmf]1

4


3. a) 
[image: image119.wmf]1

4

 ÷ 3 = 
[image: image120.wmf]1

12


b) They would each get 
[image: image121.wmf]1

12

 of the cake.

4. a) 
[image: image122.wmf]5

6

 ÷ 4 = 
[image: image123.wmf]5

24

  b) 
[image: image124.wmf]5

24

 of the grade 8 students would be in each of the groups.

BLM 6–11 Section 6.2 Math Link

1. 
[image: image125.wmf]1

6

, and appropriately drawn pattern blocks

2. 
[image: image126.wmf]1

8

, and appropriately drawn fraction strips

3. 
[image: image127.wmf]1

10

, and appropriately drawn number line

4. a) 
[image: image128.wmf]1

10

 ÷ 2  b) 
[image: image129.wmf]1

20


BLM 6–12 Section 6.3 Extra Practice

1. a) halves, thirds, or thirds, halves

b) quarters, thirds, or thirds, quarters

c) less  d) 0, 
[image: image130.wmf]1

2

, 1  e) numerator, numerator, denominator, denominator

2. a) 
[image: image131.wmf]1

9

, and a correctly marked rectangle  

b) 
[image: image132.wmf]2

12

, and a correctly marked rectangle

3. a) 
[image: image133.wmf]1

2

 × 1 = 
[image: image134.wmf]1

2

; 
[image: image135.wmf]1

2

  b) 
[image: image136.wmf]1

2

 × 1 = 
[image: image137.wmf]1

2

; 
[image: image138.wmf]4

15


c) 
[image: image139.wmf]1

2

× 
[image: image140.wmf]1

2

 = 
[image: image141.wmf]1

4

; 
[image: image142.wmf]5

32


4. 
[image: image143.wmf]1

8

 of Mr. Saari’s is on a “rep” team.

BLM 6–13 Section 6.3 Math Link

1. 
[image: image144.wmf]1

50

  2. 
[image: image145.wmf]1

50

  3. Rule: Multiply the numerators and multiply the denominators; 
[image: image146.wmf]1

50

.
4. Answers will vary. Example: I prefer using the rule because it is just basic multiplication.

BLM 6–14 Section 6.4 Extra Practice

1. a) 2 × 
[image: image147.wmf]2

3

 = 
[image: image148.wmf]4

3

; 3 × 
[image: image149.wmf]1

2

 = 
[image: image150.wmf]3

2

; 
[image: image151.wmf]2

3

 × 
[image: image152.wmf]1

2

 = 
[image: image153.wmf]2

6


b) 6 + 1
[image: image154.wmf]1

3

 + 1
[image: image155.wmf]1

2

 + 
[image: image156.wmf]2

6

 
= 8 + 
[image: image157.wmf]2

6

 + 
[image: image158.wmf]3

6

 + 
[image: image159.wmf]2

6

 
= 8
[image: image160.wmf]7

6

 = 9
[image: image161.wmf]1

6


c) Estimates may vary. Example: 3 × 4 = 12

d) 
[image: image162.wmf]5

2

;
[image: image163.wmf]11

3

; 
[image: image164.wmf]5

2

 × 
[image: image165.wmf]11

3

 = 
[image: image166.wmf]55

6

 = 9
[image: image167.wmf]1

6


2. a) 
[image: image168.wmf]3

4

 = 3
[image: image169.wmf]3

4


b) 
[image: image170.wmf]2

2

 + 
[image: image171.wmf]2

2

 + 
[image: image172.wmf]2

2

 + 
[image: image173.wmf]2

2

 + 
[image: image174.wmf]1

2

 = 4
[image: image175.wmf]1

2


c) 
[image: image176.wmf]12

12

 + 
[image: image177.wmf]12

12

 + 
[image: image178.wmf]2

12

 = 2
[image: image179.wmf]2

12

 = 2
[image: image180.wmf]1

6


d) 
[image: image181.wmf]6

6

 + 
[image: image182.wmf]6

6

 + 
[image: image183.wmf]6

6

 + 
[image: image184.wmf]2

6

 = 3
[image: image185.wmf]2

6

 = 3
[image: image186.wmf]1

3


3. a) 
[image: image187.wmf]4

3

 × 
[image: image188.wmf]4

3

; 
[image: image189.wmf]16

3

; 5
[image: image190.wmf]1

3


b) 
[image: image191.wmf]7

3

 × 
[image: image192.wmf]3

2

;
[image: image193.wmf]21

6

; 3
[image: image194.wmf]3

6

 = 3
[image: image195.wmf]1

2


c) 
[image: image196.wmf]7

4

 × 
[image: image197.wmf]7

5

;
[image: image198.wmf]49

20

; 2
[image: image199.wmf]9

20

  d) 
[image: image200.wmf]11

6

 × 
[image: image201.wmf]5

2

;
[image: image202.wmf]55

12

; 4
[image: image203.wmf]7

12


4. 
[image: image204.wmf]1

4

16

h
BLM 6–15 Section 6.4 Math Link

1. 
[image: image205.wmf]7

8

1

  2. Express them as improper fractions and then multiply the numerators and multiply the denominators. 
[image: image206.wmf]==

35157

4288

×1


3. Answers will vary. Example: I like diagrams better for simple equations.  4. 
[image: image207.wmf]3

20


BLM 6–17 Section 6.5 Extra Practice

1. a) 
[image: image208.wmf]1

2

; 1
[image: image209.wmf]1

2

; 1
[image: image210.wmf]1

2

 ÷ 
[image: image211.wmf]1

2

 = 3

b) 
[image: image212.wmf]2

3

; 2
[image: image213.wmf]1

3

; 2
[image: image214.wmf]1

3

 ÷ 
[image: image215.wmf]2

3

 = 3
[image: image216.wmf]1

2


2. a) 6  b) 1
[image: image217.wmf]1

4

  c) 3
[image: image218.wmf]1

3

  d) 3
[image: image219.wmf]1

12


3. a) 3  b) 
[image: image220.wmf]6

5

 or 
[image: image221.wmf]1

5

1

  c) 
[image: image222.wmf]3

7

  d) 
[image: image223.wmf]5

22


4. a) 
[image: image224.wmf]9

10

  b) 1
[image: image225.wmf]1

2

  c) 5
[image: image226.wmf]1

4

  d) 4
[image: image227.wmf]4

7


5. a) 1
[image: image228.wmf]1

2

 ÷ 
[image: image229.wmf]3

4

; 2 ÷ 1 = 2. There are two portions.
b) 3
[image: image230.wmf]1

3

 ÷ 10; 3 ÷ 10 = 
[image: image231.wmf]3

10

. Each will get 
[image: image232.wmf]1

3

.
BLM 6–18 Section 6.5 Math Link

1. Answers will vary. Example: Change them to improper fractions, write them with a common denominator, and divide the numerators.

2. 1
[image: image233.wmf]1

2

  3. 70 ÷ 2
[image: image234.wmf]4

5

; 25 cm
BLM 6–19 Section 6.6 Extra Practice

1. brackets, multiplication/division, addition/subtraction

2. a) F; 5 − 3 × 
[image: image235.wmf]1

2

 = 3
[image: image236.wmf]1

2


b) F; 2
[image: image237.wmf]7

8

 − 2 × 
[image: image238.wmf]3

4

 = 1
[image: image239.wmf]3

8

  c) T

3. a)
[image: image240.wmf]5

48

  b)
[image: image241.wmf]1

2

  c)2
[image: image242.wmf]11

30


4. a) 200 × 
[image: image243.wmf]1

10

+ (275 − 200) × 
[image: image244.wmf]1

5

; 35.
The total discount was $35.

b) 20 ÷ 
[image: image245.wmf]5

7

 + 18 ÷ 
[image: image246.wmf]2

3

; 55. There were 55 students in total.

BLM 6–20 Section 6.6 Math Link

1. Answers are in italics. For the last two lines, answers will vary. Samples are provided.

	Clue
	Suggested
Operation

	
[image: image247.wmf]3

4

 of 20
	multiplication

	equally shared
	division

	earned time-and-a-half
	multiplication

	fraction of
	division

	part of
	division

	
[image: image248.wmf]3

4

 as many as
	multiplication

	
[image: image249.wmf]1

2

2

 times as long
	multiplication

	quotient
	division

	product
	multiplication


2. a) Answers will vary. Example: A car can travel 70 km on 
[image: image250.wmf]1

2

 of a tank of gas. How far can the car travel on 3 tanks of gas?

b) Estimates may vary. Example: 

[image: image251.wmf]1

2

 a tank = 70 km

1 tank = 140 m

3 tanks = 420 km

c) How many half tanks are in 3 tanks?

3 ÷ 
[image: image252.wmf]1

2

 = 6

How far can you go on that many half tanks?

6 × 72 = 420 km

d) Division, to find the number of half tanks in 3 tanks. Multiplication, to calculate the distance travelled.  e) Answers will vary.
3. a) Larger. Estimates will vary. Example: 180

b) division  c) 50 ÷ 
[image: image253.wmf]1

4

 = 200

d) Answers will vary.
BLM 6–21 Chapter 6 Test

1. C  2. B  3. B  4. D  5. D

6. Answers may vary. Example:

[image: image265.jpg]



[image: image254.jpg]=

N | | <




7. a) 2
[image: image255.wmf]2

3

 b) 5  c) 4
[image: image256.wmf]2

7

 d) 1
[image: image257.wmf]5

6

 e) 
[image: image258.wmf]6

11

 f) 
[image: image259.wmf]3

4


8. 
[image: image260.wmf]1

3

  9. 24  10. 300 km

11. 24 students  12. a) 4
[image: image261.wmf]1

8

 km  b) 33 km
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